

<u>Proof</u>: l = 1: $\mathbb{B} \cup \mathbb{A} = (V^{(1)}, V^{(2)}, \dots, V^{(k)}, a^{(1)})$ is linearly dependent because \mathbb{B} is a basis: there are uniquely given $\lambda_1, \dots, \lambda_k \in \mathbb{R}$:

Choose $\lambda_j \neq 0$:

$$\mathbf{Y}^{(j)} = \frac{1}{-\lambda_j} \left(\lambda_1 \mathbf{V}^{(1)} + \dots + \lambda_{j-1} \mathbf{V}^{(j-1)} + \lambda_{j+1} \mathbf{V}^{(j+1)} + \dots + \lambda_k \mathbf{V}^{(k)} - \boldsymbol{\alpha}^{(1)} \right)$$

Remove $\gamma^{(j)}$ from $\mathcal{B} \cup \mathcal{A}$ and call it \mathcal{C} .

C is linearly independent:

$$\begin{split} \widetilde{\lambda}_{1} \mathbf{V}^{(1)} + \cdots + \widetilde{\lambda}_{j-1} \mathbf{V}^{(j-1)} + \widetilde{\lambda}_{j} a^{(1)} + \widetilde{\lambda}_{j+1} \mathbf{V}^{(j+1)} + \cdots + \widetilde{\lambda}_{k} \mathbf{V}^{(k)} &= 0 \\ \\ \text{Assume } \widetilde{\lambda}_{j} \neq 0 : a^{(1)} = \text{ linear combination with } \mathbf{V}^{(1)}_{i,\dots,i} \mathbf{V}^{(j+1)}, \mathbf{V}^{(j+1)}_{i,\dots,i} \mathbf{V}^{(k)}_{i,\dots,i} \mathbf{V}^{($$